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11 Ea—T+R[EE] 0.64 0.64 0.61 0.61 0.57 0.56 0.61 0.60 0.64 0.64 053
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EXL 3.7% 3.2% 8.3% 12.3% 72.6% 4.2% 3.7% 10.6% 15.3%  66.1%
01 REIF[FEXR] 2.3% 1.1% 5.8% 13.1% 77.6% 3.8% 3.2% 9.5% 16.7% 66.8%
02 REIFLEE] 5.4% 5.3% 13.3% 15.2% 60.8% 6.0% 6.1% 17.7% 17.8% 52.4%
03 RE1FE[EE] 4.3% 2.8% 10.0%  21.3%  61.6% 4.8% 3.8% 13.3%  22.9%  55.2%
04 RE25F[E=] 1.9% 0.6% 2.5% 8.7% 86.3% 1.9% 1.2% 2.5% 10.3% 84.1%
05 RE2E[EE] 3.0% 3.3% 5.1% 7.3% 81.3% 2.9% 1.9% 4.1% 8.3% 82.9%
06 RE2E[EH] 0.0% 0.0% 2.3% 7.0%  90.7% 0.0% 0.0% 2.3% 7.0%  90.7%
07 RELEE] 23.3% 18.3% 36.7% 11.7% 10.0% 23.3% 18.3% 30.0% 18.3% 10.0%
08 Has[EE] 1.8% 1.3% 4.3% 7.8%  84.8% 2.0% 1.3% 4.9% 13.3%  78.5%
09 HIs[EE) 1.6% 2.0% 4.2% 11.5% 80.7% 2.0% 2.3% 5.4% 17.2% 73.1%
10 HasS[EH] 15.4% 0.0% 0.0% 15.4%  69.2% 15.4% 0.0% 0.0% 15.4%|  69.2%
11 Has[3EER]) 7.1% 0.0% 7.1% 21.4% 64.3% 28.6% 14.3% 21.4% 28.6% 7.1%
12 BEARAE[ER] 2.2% 1.1% 4.4% 8.8% 83.5% 2.2% 1.1% 5.5% 13.2% 78.0%
13 EALABELEE] 9.2% 2.0% 17.3% 24.5% 46.9% 10.4% 4.2% 30.2% 24.0% 31.3%
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01 BEROSF) 22.4%  21.0%  37.0% 11.9% 7.8% 19.7% 19.3%  34.9% 14.7% 11.5%
02 BERDE) 4.6% 0.9% 1.9% 9.3% 83.3% 4.6% 0.9% 1.9% 11.1% 81.5%
03 Eii-ERROE) 5.0% 5.9% 12.7% 16.4%|  60.0% 7.4% 4.6% 18.9% 18.4%|  50.7%
04 Eihi- ERRQE) 0.0% 0.0% 0.0%  21.1% 78.9% 5.3% 0.0% 10.5%  26.3%  57.9%
05 BEXEROHE) 3.6% 1.2% 6.0% 14.3% 75.0% 11.9% 3.6% 9.5% 17.9%  57.1%
06 BEXIERDE) 0.0% 0.0% 0.0% 6.5%]  93.5% 0.0% 0.0% 0.0% 6.5%  93.5%
07 AEROFE) 0.0% 0.8% 4.9% 7.3% 87.0% 0.8% 0.8% 4.9% 11.4% 82.1%
08 AERQE) 0.0% 0.0% 11.1% 11.1% 77.8% 2.8% 2.8% 8.3% 13.9% 72.2%
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£ 3.7% 3.2% 8.3% 12.3% 72.6% 4.2% 3.7% 10.6% 15.3% 66.1%
01 DER(EE] 0.8% 1.5% 5.3% 6.0%  86.5% 0.8% 1.5% 6.9% 9.9%  80.9%
02 DEZCEE] 4.5% 3.0% 6.1% 13.6%  72.7% 3.0% 3.0% 6.1%  258%  62.1%
03 DIEZR[EER] 7.1% 0.0% 7.1%  214%  643%  28.6% 14.3%  21.4%  28.6% 7.1%
04 RER(ER] 0.0% 0.0% 4.0% 4.0% 92.0% 0.0% 0.0% 4.0% 8.0% 88.0%
05 REREE] 0.0% 1.8% 10.7% 7.1% 80.4% 0.0% 1.8% 12.5% 10.7% 75.0%
06 g R(E=] 2.4% 0.0% 1.6% 5.6% 90.3% 3.3% 0.0% 1.6% 12.2% 82.9%
07 FARUEE] 0.0% 0.0% 9.7% 16.1% 74.2% 0.0% 0.0% 10.0%  23.3% 66.7%
08 - EEED) 13.2% 0.0% 5.3% 15.8% 65.8% 13.2% 0.0% 10.5% 18.4% 57.9%
09 EER[EE] 0.0% 0.0% 7.1% 28.6% 64.3% 7.1% 10.7% 3.6% 32.1% 46.4%
10 Ea—T4R[(ER] 1.1% 1.1% 7.7% 6.6%  83.5% 1.1% 1.1% 5.5% 15.4%|  76.9%
11 Ea—T4R[EE] 8.0% 4.0% 8.0% 12.0%  68.0% 10.0% 2.0% 12.0%  28.0%  48.0%
12 AR—YR[#EE] 0.0% 4.8% 2.4%  21.4% 71.4% 0.0% 4.9% 7.3%  24.4%  63.4%
13 ZAR—YR[(EE] 6.5% 0.0% 0.0% 6.5%  87.1% 6.5% 0.0% 0.0% 6.5%  87.1%
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